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| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
each sentence. Then mark the correct choice on your answer sheet.

1-  The two lawyers

their contract and each opened a separate office.

1) resigned 2) hindered 3) penalized 4) terminated
2-  The police ordered the robbers to their weapons.

1) cease 2) settle 3) surrender 4) collapse
3-  The nation’s economy was largely by foreign aid.

1) imported 2) sustained 3) disposed 4) accompanied
4-  Unfortunately the current law -- any improvement in the country’s trade with
foreign countries.

1) impedes 2) compels 3) exposes 4) abstains
They are using that hall to hold their party -——-=—.
1) juncture 2) convention 3) intersection 4) circumstance

6- Talking about money now would be a from the main purpose of this meeting.
1} digression 2) detention 3) disputation 4) dispersion

7- There have been calls for the drug’s immediate -—--—--, following reports that it has
dangerous side effects.

1) protest 2) discharge 3} disposition 4) suspension
8- I have not read any of the previous chapters of this book, so you will have to give me a
brief :
1) outlook 2} synopsis 3} panorama 4) prospect
9-  Practical experience is an part of this course.
1) integral 2) adequate 3) accelerated 4) expository
10- Some of these plants are more ——-—- to frost damage than others,
1) inherent 2) forthcoming 3) susceptible 4) instrumental

| PART B: Cloze Test

| Directions: Read the following passage and decide which choice (1), (2), (3), or
| (4) best fits each space. Then mark the correct choice on your answer sheet. |

We have said earlier that climates are continuously changing. (11) -----—-—- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) -=---mnm- are a result of
mankind’s own activities. Scientists have been able to reconstruct accurately the average
temperature of the Earth (13) —-—---- years using millions of individual thermometer readings
(14) -==-==mmna world. The result seems to suggest that since the end of the 19™ century the Earth
has warmed up by about 0.5°C (1 °F ). The warmest years all occurred in the 1980s, Although it
is not yet known for certain, (15) ---------- explanation for this global-scale warming is the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

11- 1) There thought 2} It was thought

3) 1t has been thought 4) There has been thought
12- 1) we have seen 2) we saw them 3) that have seen 4) that saw them
13- 1) over 100 last 2) across 100 last 3) over the last 100 4) across the last 100
14- 1) of around 2) from around 3) of around the 4) from around the
15- 1) likely most 2) most likely 3) the most likely 4) likely the most
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IPART C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3),
lor (4). Then mark it on your answer sheet.

PASSAGE]L:

In the wood-preserving process of ‘steeping’, the wood is submerged in a tank of water-
preservative mix, and allowed to soak for a long period of time (several days to weeks). The
depth and retention achieved depends on factors such as species, wood moisture, preservative
and soak duration. The majority of the absorption takes place during the first two or three
days, but will continue at a slower pace for an indefinite period. When treating seasoned
timber, both the water and the preservative salt soak into the wood, making it necessary to
season the wood a second time. Posts and poles can be treated directly on.endangered areas,
but should be treated at least 30 cm above the future ground level. The depth obtained during
regular steeping periods varies from 5 mm to 10 mm up to 30 mm by sap pine. Due to the
low absorption, solution strength should be somewhat stronger than that in pressure
processes, around 5% for seasoned timber and 10% for green timber (because the
concentration slowly decreases as the chemicals diffuse into the wood). The solution strength
should be controlled continually and, if necessary, be corrected with the salt additive. Afier
the timber is removed from the treatment tank, the chemical will continue to spread within
the wood if jf has sufficient moisture content. The wood should be weighed down and piled
s0 that the solution can reach all surfaces.

16- [t is stated in the passage that in steeping -
1) the water-preserving mix should soak for a long time
2) the wood species determines the level of preservative
3) there is no time limit to the adsorption of the wood
4) submerged tanks with a water-preservative mix are used
17- We may understand from the passage that steeping -
1) seasoned timber produces suitable wood for posts and poles
2) is performed only when there is need to high levels of absorption
3) cannot be categorizéd as a pressure process of wood preservation
4) is almost the strongest wood preservation technique in the industry
18- The passage points to the fact that
1) steeping periads do.not provide over-30 mm depths
2) the pressure process is at most 10% for green timber
1) seasoned wood should be about 30 cm above the ground
4) addition of salt can balance steeping’s solution strength
19- The pronoun ‘it’ in the passage (underline) refers to ———— .
1) ‘the timber® . 2) “the solution’
3) ‘the chemical® 4) *the treatment tank’
20- The word “diffuse’ in the passage (underlined) is basically closest to :
1) *soak® 2) ‘spread’ 3) ‘settle’ 4) *soften’
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PASSAGE 2:

Wood-Plastic Composite (WPC) is a non-recyclable composite material lumber or timber
made of recycled plastic and wood wastes. There are also applications in the market, which
utilize only virgin raw materials. Its most widespread use is in outdoor deck floors, but it is
also used for molding and trim, ¢ladding and siding, railings, window and door frames, and
indoor furniture. WPC is requires less maintenance than the alternatives of solid wood treated
with preservatives or solid wood of rot-resistant species. Resistant to cracking and splitting,
these materials can be moulded with or without simulated wood grain details. Even with the
wood grain design these materials are still visually easy to distinguish from natural timber as
the grains are the same uniform colour as the rest of the material. Although being highly
resistant to rot, WPCs still soak up water due to their mixing with organic wood fibres. This
can be avoided by loading up their wood fibres with oils or other products that repel water.
Still the major advantage of WPC is its ability to add another stage of upstream use to
materials previously considered waste lumber. Although these materials continue the lifespan
of used and discarded materials, and have their own considerable half life; the polymers and
adhesives added make WPC difficult to recycle again after use due to the many impurities in
such a compound. It can, however, be recycled in a new WPC. A major advantage over wood
is the ability of the matenal to be moulded to meet almost any desired spatial conditions. It
can also be bent and fixed to form strong arching curves. With up to 70 percent cellulose
content, wood-plastic composites behave like wood and can be shaped using conventional

woodworking tools.

The passage points to the fact that

1) WPCs are always made from recycled wood and plastic

2) outdoor deck floors can also be used for molding and trim

3) solid wood of rot-resistant species can be used instead of WPC
4) composite material lumber is made mostly of recycled timber
We understand from the passage that ————--,

1) WPC is non-breakable for its plastic ingredient

2) natural timber grains are of the same uniform colour

3) alternatives of solid wood are treated with preservatives

4) WPC does not necessarily have to look like actual wood

It is stated in the passage that
1) it is possible to add oils to WPC wood fibres

2) wood grain details are simulated for decoration
3) waste lumber was previously considered useless
4) the organic wood fibres in WPC are rot-resistant
It is possible to conclude from the passage that
1) WPC is much more expensive than wood

2) we should destroy WPC once its half life is over

3) special tools have not been developed for WPC use

4) more WPC is reeyveled form other WPC than made new

The word ‘cladding’ in the passage (underlined) is closest to .

1) “load’ 2) ‘cover’ 3} *mould’ 4) “design’
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PASSAGE 3:

The main by-products of kraft pulping are crude sulfate turpentine and tall oil soap. The
availability of these are strongly dependent on wood species, growth conditions, storage time
of logs and chips and the mills process. Pines are the most extractive rich woods. The raw
turpentine is volatile and is distilled of the digester, while the raw soap is separated from the
spent black liguor by decantation of the soap layer formed on top of the liguor storage tanks.
From pines the average yield of turpentine is 5 - 10 kg/t pulp and of crude tall oil is 30-50
kg/t pulp. Various by-products containing hydrogen sulfide, methyl mercaptan and other
volatile sulfur compounds are the cause of the malodorous air emissions characteristic for
pulp mills utilizing the kraft process. Outside the modern mills the odour is perceivable only
during disturbance situations, for example when shutting the mill down for maintenance
break. This is due to practiced collection and burning of these odorous gases in the recovery
boiler along with black liquor. The sulfur dioxide emissions of the kraft pulp. mills are much
lower than sulfur dioxide emissions from sulfite mills. In modern mills where high dry solids
are burmed in the recovery boiler hardly any sulfur dioxide leaves the boiler. This is mainly
due to higher lower furnace temperature which leads to higher sodium release from the black
liquor droplets that can react with sulfur dioxide forming sodium sulfate. Pulp mills are
almost always located near large bodies of water due to their former substantial demands.

Eﬁhﬁuﬁgmmjﬁmm_mﬂpi released considerable amounts of organic matenal into the

environment, particularly into rivers or lakes.

The passage mentions that in kraft pulping ---——--——.

1) the raw turpentine forms on top of the storage tanks

2) the storage time of logs depends on the wood species

3) tall il soap is developed out of crude sulphate turpentine
4) more crude tall oil than turpentine is produced from pines
The passage points to the fact that -—-——-——,

1) the kraft process is air-independent

2) methy] mercaptan is a bad-smelling substance

3) sulfur compounds are present in nearly any pulp mill

4) any disturbance in pulp production increases the smells

It is stated in the passage that in modern mills ————-,
1) have a lower furnace temperature than alder mills

2) sulfur dioxide cannot escape from the recovery boiler

3) black liquor is a by-product of the kraft recovery sulphur

4) black liquer droplets react with the present sulphur dioxide
The “delignification of chemical pulps® mentioned in the passage means to

1) put lignin into them 2) change their lignin from solid to 11qu1d
3) fix the present amount of lignin in them 4) take lignin away from them
The word ‘decantation’ in the passage (underline) is most closely related to the word -———,

1) ‘emptying’ 2) ‘adding’ 3) ‘mixing’ 4) ‘reacting’
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